Amana LGS33AW (BOM: PLGS33AW) 13 - MOTOR, EXHAUST FAN AND
BELT

MOTOR, EXHAUST FAN AND BELT

* ADD LETTER TO DESIGNATE COLOR. L - Almond W - White

RP3200004 (504010} 16
Rev. 0

Amana Residential Amana LGS33AW (BOM: PLGS33AW) Dryer Parts Parts Diagram 13 - MOTOR, EXHAUST FAN
AND BELT

Click on the part number to view part

FramDer—Rgplacec EYNGgee S FUESSCITRg |

1 504018 37001119 Seal, Blower Housing
2 31260 Screw, No.8 X 3/8 Ind H
3 500078 511969P Kit Blower Housing And Cover
4 503661 27001200 Screw
5 Y31645 27001200 Screw
6 56000 510139P Assembly Blower Fan
a4 B a Package
7 56020 Housing, Blower
8 502368 2200376 Motor
. MOTOR SWITCH (DOES NOT
9 501218 Not Available INCLUDE THERMAL PROT
Clamp, Motor Mounting
10 Y58047 660658 343481 685441
11 59174 40111201 Belt, Cylinder
12 500011 Pulley, Motor

13 590P3 Motor Hub Ring Kit


http://www.pwslaundry.com/c-503184-residential-amana-lgs33aw-(bom:-plgs33aw)-dryer-parts-for-repair-service
http://www.pwslaundry.com/i-10393329-amana-37001119-washer-dryer-seal-blower-housing.html
http://www.pwslaundry.com/i-10392807-amana-31260-washer-dryer-screw-no-8-x-3-8-ind-h.html
http://www.pwslaundry.com/i-10396621-amana-511969p-washer-dryer-kit-blower-housing-and-cover.html
http://www.pwslaundry.com/i-10393327-amana-27001200-washer-dryer-screw.html
http://www.pwslaundry.com/i-10393327-amana-27001200-washer-dryer-screw.html
http://www.pwslaundry.com/i-10396619-amana-510139p-washer-dryer-assembly-blower-fan-package.html
http://www.pwslaundry.com/i-10393317-amana-56020-washer-dryer-housing-blower.html
http://www.pwslaundry.com/i-10393552-amana-2200376-washer-dryer-motor.html
http://www.pwslaundry.com/i-10394970-amana-660658-washer-dryer-clamp-motor-mounting-343481-685441.html
http://www.pwslaundry.com/i-10393394-amana-40111201-washer-dryer-belt-cylinder.html
http://www.pwslaundry.com/i-10393508-amana-500011-washer-dryer-pulley-motor.html
http://www.pwslaundry.com/i-10395288-amana-590p3-washer-dryer-motor-hub-ring-kit.html

15 56156 358160 Nut

17 56461 Shaft

19 Y54414 Assembly, Wheel And Bearing

21 500824 Screw, 1/4-20 Unc Hex

23 52566 27001225 Nut, Jam Mid Lock 1/4-20

25 500070 Base, Dryer

27 503979 Thermostat


http://www.pwslaundry.com/i-10393469-amana-56076-washer-dryer-spring-idler.html
http://www.pwslaundry.com/i-10396251-amana-358160-washer-dryer-nut.html
http://www.pwslaundry.com/i-10396257-amana-37001144-washer-dryer-assembly-idler.html
http://www.pwslaundry.com/i-10393470-amana-56461-washer-dryer-shaft.html
http://www.pwslaundry.com/i-10392834-amana-52549-washer-dryer-washer-501-id-x3-4-odx.html
http://www.pwslaundry.com/i-10393471-amana-y54414-washer-dryer-assembly-wheel-and-bearing.html
http://www.pwslaundry.com/i-10392832-amana-23748-washer-dryer-ring-retaining.html
http://www.pwslaundry.com/i-10393321-amana-500824-washer-dryer-screw-1-4-20-unc-hex.html
http://www.pwslaundry.com/i-10393315-amana-37001287-washer-dryer-assembly-idler-lever-shaft-pulley.html
http://www.pwslaundry.com/i-10393323-amana-27001225-washer-dryer-nut-jam-mid-lock-1-4-20.html
http://www.pwslaundry.com/i-10393325-amana-503613-washer-dryer-mount-motor.html
http://www.pwslaundry.com/i-10393498-amana-500070-washer-dryer-base-dryer.html
http://www.pwslaundry.com/i-10395289-amana-61623-washer-dryer-thermostat-heater-br.html
http://www.pwslaundry.com/i-10393538-amana-503979-washer-dryer-thermostat.html
http://www.pwslaundry.com/i-10396862-amana-489464-washer-dryer-screw.html

	Amana LGS33AW (BOM: PLGS33AW) 13 - MOTOR, EXHAUST FAN AND BELT

